—_RCl OFFROAD_Xx~\

RCI 24+ Tacoma 25+ 4Runner Non-Hybrid T-Case Skid Plate

Install Guide

TEM MO, | PART NUMBER DESCRIFTION STy
2024 Tacoma T-Case Skid
1 SM-00770 Plate - Stesl 1
. 2024 Tacoma T-Caze
2 SA-ODT 72 Built Crosmember 1
3 HA-001 60 24+ Taco Berill’rugrossm ember|
MATO-1.5 X 3500 HEX
4 |HW-00021 FLANGE BOLT 2
3/8 USS FLAT WASHER THRU
5 HW-0002 6 HARD 7
5558B1 M BAT0-T.5 U-NUT
& HW-00023 SO 4
7 BX-00012 Toyvota Trans 26x23x3 1
8 BX-00021 ECOMO E.E. 46x6x6 1
MATO = 45 Flcmged Bolt LM LE:§ & THERWEE $F ECIFIED: RO FHETA BV AW COHRBERTAL HEWE BATE
? RW-00162 Porticlly Threaded 2 DRRWH 3 D410 24
D IAEHS 1< HS SRE IH IHNCHES IHE [MHORAS] DHCOHIAIHED W
Tolgances: DR HE G 1301 E MR O Export Date
10 HW-00029 3/8 SPLIT LOCK WASHER ZINC 3 AHELLAR: BEND 206 T o o e E
Tl PLACE FECIAGL 20014 MRITEW FERABSDHOH BT CHraaa
THREEPLACE DECKASL 0010 | pao i M 422 2024
1 HW-00030 3/8-14 FlNZT{EéNUT GR-5 3 RClI OFFROAD
TITLE:
_ _ 24 Taco Non-Hylborid T-
192 HW-00035 3/8-16 %1 Elé)QLTCARRIAGE 3 CASE - SHIP
BEOM
13 HW-00003 Mounting Plate #3 18815 z Ham Momb ar REY
FG-00460 ]
14 HW-00125 3/8 TRANSMISSION SPACER 2
DO HD1 52415 DRAMIE SCALE: 1:10 WEIGHT: SHEET1 OF 1

Figure 1: BOM




—_RCl OFFROAD_Xx~\

INSTALLATION STEPS:

**Use hand tools, impact wrenches may cause damage if over torqued.**

1) Begin by unpacking and removing all components and hardware. Please verify that all
hardware and mounting components are present. Reference your original order invoice and
verify all items are accounted for.

2) Pre-requisite steps for installation without an RCI 24+ Tacoma Transmission Skid Plate. If
installing with a RCI 24+ Tacoma Transmission Skid Plate, skid this step.

a. Install the M10 speed clips on the MP3 plates.

MP3




—_RCl OFFROAD_Xx~\

b. Insert the MP3 subassemblies into the rear vehicle crossmember. Align the threaded
holes of the MP3 subassemblies with the large holes in the vehicle crossmember.
i. Insert the MP3 plates from into the crossmember from the cutouts in the center of
the crossmember.




—_RCl OFFROAD_Xx~\

ii. Align the threaded ends of the MP3s with the large holes in the rear
crossmember.




=_RCl OFF ROAD_ X\

3) Prepare front for installation.

a. If installing the RCI 24+ Tacoma Transfer Case Skid Plate in conjunction with the RCI
24+ Tacoma Transmission Skid Plate, loosen the transmission skid plate mounting
hardware so there is at least 1/4" gap between the rear of the transmission skid plate
and the vehicle crossmember.

b. If installing the RCI 24+ Tacoma Transfer Case Skid Plate without the RCI 24+ Tacoma
Transmission Skid Plate, loosely install a set of M10 bolts in the MP3 plates in the
crossmember.

4) Install the transfer case crossmember on the vehicle frame.
a. Remove the plastic caps from the sides of the vehicle frame.
b. Use a set of pliers to bend the included crossmember nut plates.
i. At the junction between the large part of the nut plate and the “tail”, bend the tail
upward.

ii. Atthe first set of small dimple cutouts, bend the tail downward.



=_RCl OFF ROAD_ X\




=_RCl OFF ROAD_ X\

ii. Atthe last set of large dimple cutouts, bend the tail to the side. Bend to the right
for the passenger side, bend to the left for the driver side.




—_RCl OFFROAD_Xx~\




—_RCl OFFROAD_Xx~\

c. Install an M10 speed clip on each nut plate.




—_RCl OFFROAD_Xx~\

d. Insert the nut plates into the vehicle frame.

Align the M10 speed clips with the holes in the bottom face of the vehicle frame.

e. Align the transfer case crossmember with the holes in the bottom face of the vehicle
frame and support the center with a floor jack or similar.



—_RCl OFFROAD_Xx~\

f. Use the included M10x35mm hardware to loosely secure the crossmember to the nut
plates in the frame.

g. With both sides loosely secured, push the transfer case crossmember towards the front
of the vehicle and tighten the M10x35mm hardware.

5) Slide the front mounting flange of the transfer case skid plate onto the M8 hardware. The skid
plate will sit between the vehicles crossmember and the transmission skid plate or on the
washers around the M8 hardware. Apply upward pressure to allow the transfer case skid plate
to rest on the lower face of the transfer case crossmember.



—_RCl OFFROAD_Xx~\

6) Using a floor jack or similar, hold the skid plate assembly up to the vehicle frame and loosely
install the included 3/8” hardware to secure the transfer case skid plate to the transfer case
crossmember.




—_RCl OFFROAD_Xx~\

T ® S
& u

7) Slide the included 3/8” transmission spacers between the vehicle crossmember and the front
mounting face of the RCI 24+ Tacoma Transfer Case Skid Plate and tighten all hardware.




—_RCl OFFROAD_Xx~\

Enjoy your new RCI protection!

Share your new install with us on social media!

We love seeing our products out in the wild!

flo

e R e e e L Bl L e R e P o ] i Y e il et o, el el D Pt el gl Falm wmns ol B o e o B =l g e B ey
s T R T e L = o L s B e e e e e ol e R Ly T e e Pl T
B e S e gl Sl S B i e el el B e T B P B R e e By N e e el T e i S D ety SRS mac ot K
e, Searwac el e e L S sl e Al i g e el AT S R e ECe LN RN TNyt e - el Wy e neia - ettt e e
FATh T LA S ity P R Sy scharp iy S Pl SOl W R R sl . Dm - £ B e Beieese w0 Gt SN e B e, NS W el RS el B W e e
oraachas ars cobes e ersnies Coeiss by D ore b r e PO, s il e e bk e o e s PR el n B O mohye ek g 1S A Esorew Em
Fradects and reeerre s b rigeha e reskas s sgpes oo saree Ees-deec s

www.rcimetalworks.com
I rcioffr .com
970-797-3089

AP FERMDIE S

Additiomnal Mounting BEracket Installation Instroctions for 21+ Bromnocos
VWi'ithouwut MNMeces=mry NMournbimng Lbocatiomns


mailto:sales@rcioffroad.com

